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FIGURE 1.7 Eratosthenes’ actual way of de-

5000 stadii }ermining the circumference of Earth, assum-

ing a round Earth and a very distant Sun. The

FIGURE 1.6 A flat Earth view of Eratos- size of the tower and well are greatly exagger-
thenes' measurement. The differences in the ated.

shadows might be used to conclude that the
Sun was a relatively short distance, D, away
from Earth.

Table 3-1. Characteristics of the orbits of the nine planets and of the
largest object in the asteroid belt:

Time for one

Radius of revolution Inclination Length

orbit (10* about Sun  of orbit* Eccentricity  of day
Planet centimeters) (years) (degrees) of orbitt (days)
Mercury 0.58 0.24 7.0 0.21 59
Venus 1.08 0.62 34 0.01 243
Earth 1.50 1.00 0.0 0.02 1.0
Mars 2.29 1.88 1.9 0.09 1.0
Asteroid Ceres 4.15 4.60 10.6 0.08 0.4
Jupiter 7.70 11.9 1.3 0.05 0.4
Saturn 14.3 29.5 2.5 0.06 0.4
Uranus 28.3 84.0 0.8 0.05 1.0
Neptune 45.1 164.8 1.8 0.01 0.9
Pluto 59.2 247.7 17.2 0.25 6.2

*The plane of the Earth's orbit is used as the reference.
TA measure of the deviation from circularity.
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TPole
NEWTON CASSINI

Amapof Lapland
compiled by the French
scientist Mawpertuis in

1736-37. lo show Inis
triangulation of a degree
of a meridian. He began

al Tornio (Torned) al
85 30" N and stopped al

Kitt's Mowntain just

short af 66 50°N and just
north of the Aretic Circfe,
His calenlation, when
compared with the length
af a degree in France and
anthe equator in Pera,
shoiced that the Earth was
.\hglr{.{\'ﬁm'.'nml af the
foles, as Newton's

Hn'nr_\' of graiitalton

had predicted.

Courriers de la physique, argonautes nouveaux,
Qui franchissez les monts, qui traversez les eaux,
Ramenez des climats soumis aux trois couronnes

SIS - 0. Vos perches, vos secteurs, et sur-tout deux Lapones.
;i@ i%i%?&\ﬁ_ﬂ 7 Vous avez cbnﬁlrmré dans ces IiELTX pl.eins d’t?rllnui
ki en T S - Ce que Newton connut sans sortir de chez lui.

Voltaive
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